Efficiency vs hit fake+duplicates vs hits

0.0 @ 0.8
= E = E
£.009F 2 07F
B.008F £k
9.008¢
Q E = 0.6
D007 2 F
9.006F- 8 osf
E E E
0.005F o 04F
E (] F
0.0045— :‘4‘9 0.3F
0.003F E
E 0.2
0.002F- E
0.001F 0.1
i , o of
% 1.4F
& goF--}:
T bl
7080 8% —5 10 15 20 25 30 35 40

TP hits track hits
—=— DQM_mkFit_TTbharPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
I Efficienc|] —— DQM_mkFit_TTharPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

0 0.01¢ » 08
[ E )

E >
H.009F g o7

E [
$.008F 2
3 F 2 06
9.007F ©
8 006E g 05
.006F g
o E k]
0.005F- S 04
0.004F T o3

E e .
0.003F =

E 0.2
0.002F

3
0.00F 03
o OF e 0
& 1.05F - § 12

i r-

0.95, X : 0.8 :
0 5 0 15 20 25 0 15 20 25

TP layers track layers

Efficiency vs pixel layer [ fake+duplicates vs pixel layers |

0 0.01p o 05
[ F [
045
2 04
[=%
©0.35
[}
g 03
8025
g
5 0.2
>
30.15
Q
& 0.F
0.05
o 0
R
14
0.9
0.95E—tus — 0. — —
0 1 2 3 4 5 6 7 8 0 1 2 3 /4 5 6 7 8
TP pixel layers track pixel layers
[ fake+duplicates vs 3D layers |
@ 0.01 o
] E [}
#.009F k)
2.008F- & 08
7 E g .
§'007:_ 0y
$.006F- &
o E g 06
%.005F g
0.004F S04
E o
0.003f &
E s
0.002F = 02
3
0.001
o of . o 40f
5 Laf-ei : 5
04 : : 14
12F--0a}- : 0.9
- : 0.8] beeekeo o o|-EEHE YreEeeeeed
£.4F. P A AR R 0 S
0 2 4 6 8 10 12 14 16 18 20 0'70 2 4 6 8 10 12 14 16 18 20

TP 3D layers track 3D layers



	Contents
	Page 1


